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Chapter 9 Review — Series & Sequences
Show all work! Date: Period:
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1.) A recovering heart attack patient is told to get on a regular walking program. The patient is told to
walk a distance of 5 km the first week, 8 km the second week, 11 km the third week and so on for a

period of 10 weeks. 5" e /7
/

a.)  How far will the patient walk in the 10% week?

A = 5‘*(/0—/X6)

/0

A, = S +(2X3)

A 32
b.)  Whatis the total distance covered by the patient at the end of the 10* week?

S, = (s+32)

S, $(37) /PSS K
\S‘ : /S

2.) A virus reproduces by dividing into two, and after a certain growth period, it divides into two again.
As the virus continues to reproduce, it will continue to divide in two. How many viruses will be in a
system starting with a single virus AFTER 10 divisions?
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3.) Amanda owes $20,000 in interest free college loans. She is able to pay back the loan at a rate of 1.9%
of the balance per month... 20 oco ° /9620 '@ (9247%. 22 [PPE/. s2
. ' A, A, 4

a.) Is the following sequence Arithmetic or Geometric?

GEolMETRLC
b.)  State the common difference or common ratio.
CoMMers RATIc = O.TF/
. I/
c.)  How much will she owe after her 21% payment?
2¢~-1
A= 19620 (. 7#1) 5
2t /_‘3 17 J} 3?

/13368.39
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4.) Logs are stacked in a pile with 24 logs on the bottom row and 15 on the top row. There are 10 rows In
all with each row having one more log than the one above it. How many logs are in the stack?

/7S LoGS
g, 0 < (37)
S, /95
5.) A pile of bricks has 85 bricks in the bottom row, 79 bricks in the second row, 73 in the third row and so
on until there is only 1 brick in the top row... ,4~ = £S + (M- ’Y"é)

a.)  How many bricks are in the 12" row?

A, = £ + (12-1)-6) A, = 17

2

A, = &S + (~¢6)

b.) How many rows are there in all?

/

£S +(~-'l"6\ N SIS
-GN*GJ
-9 * _gn~ /5 LouS

- F‘/
c.) How many total bricks are in the entire pile?

S, = w1 +4=s—)j>5;,3 = 675
S = £ (00) o1 _soces

6.) The front row of a theater has 25 seats. Each of the other rows has two more seats than the row
before it. How many seats are there altogether in the first 20 rows? 2§, 27, 29, .--

17 Berews

L]

f

/‘{20 s 25 + (20-1X2) S, © —ﬁ—? (.2( + 63)
A, =25 * 19(2) S, = /0 (goc) Fro S£473
A, =063 S, = FFO

7.) Juan has been saving money to buy a car. He put $10 in a jar the first week, $15 the second week, $
20 the third week, $ 25 the fourth week and so on. How much money will Juan have saved in 1 year

(52 weeks)? s S% 265 )

VIR S SR R
2

ﬂS’l - /0t (SIXS') 55'2 - 52_% (275‘) \f7/5—0

Ay = 265

8.) 8, 6, 45, 3.375, 2.53125,..

a.)  Arithmetic or Geometric: ___ GEoMETRZ 1C

3
b.)  Common Difference and/or Ratio: . 7S o /6 “

¢)  Nextthree terms: _/-8£84937S  Luz3e2d2s .06 FEF107Y

~-l
d)  Explict Formula: _ A, ° 3}575')
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" Evaluate each of the following.

9)

36
ZZE =0
i=1

36
S.SG = -:2—‘(-'-? +é%)

536 = /f(fé-)
S3, = loof
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3 * 255
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